H30.8.13F7E
A B AR 18 L4 4B A B #EA 18 L4 44
4R 1 (8 BT 3L 2R 108 | 7 |8 BT3P
8 |8 BBEHBII=9Y 8 |RA/AEDH BTSSP
15 (8 BTS2 A 14 (B BEALVI=YY
22 (B HEER 21 |H BTS2 FRFN
29 |B/BBFDOA BTS2 A 28 |H BTSL AR
30 |R/iIREHA BTILESMERAT 1A | 3 |[/xX{tnH BTSLES RPN
58 | 3 |K/FEREEH BTS2 A 4 |8 BTSLE2 AR
4 |&/HEYDHE BTSLESMERAT 11 (B BBEHBII=9Y
5 |£/2EvmB BTSLE2 RPN 18 |B HEER
6 |B BTSLECMEAT 23 |&/#F=RHOBE BTSL AR
13 |8 BT3P 25 |H BTS2 FRFRN
20 |8 BTILE2 PN 12| 2 |8 BTILR2 AP
27 |H BEAEVI=YY 9 |H BEAEVI=VY
68 | 3 |A BTILE2 PN 16 |8 BTILR2 AP
10 |8 BBEHBI)=9Y 23 |A/XEMHLEAR BTILR2 RPN
17 |8 HEER 24 |R/#REKB BTILR2 RPN
24 |H BTS2 A 29 |L/FERFIRIKER BEHAEVI=VY
78 [ 1 (B HEER 30 (B/FERFEHRIKE BTSLE2AR
8 |8 BHEALI)I=vY 31 |A/FEREFIRAKER BTILR2 RN
15 |8 BT3P 18 1 |Xk/xA BTILR2 AP
16 |A/@BNH BTS2 2 [IK/EREIRIKRER BTSL 2 AR
22 |H BTSSP 3 | R/FERFIRIKRE BTSL AR
29 |H BEAEVI=YY 6 |H BTSLEC RPN
88 | 5 [H HEER 13 |8 BBHBI)Z=YY
11 |£/luo B BT3P 14 |B/BADA BTILR2 RN
12 |8 BEALII=YY 20 |B HEER
19 (B BTILES AT 27 |H BTILES RPN
26 |8 BTSSP 2R | 38 (A HEER
9A | 2 (B HEER 10 (H/EEE 0B BEALVI=YY
9 |8 BEAEDI=YY 1 |RA/#REKE BTSLE2 RPN
16 |8 BTILES AT 17 (B BEAEVI=YY
17 |R/#EOA BTSLE2 RPN 24 |H BTSLE2RAN
23 |B/MH DA BTILES AT 3A | 3 (B BTILEC RPN
24 |A/IREWA BTSSP 10 (B BEABYI=YY
30 |H BEAEVI=YY 17 |8 BTILEC RPN
21 | K/EHDH HEER
24 |H BTS2 FRFN
31 |8 BTSLE2MRAN
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